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() T 7oT At &

(i) T BHE 1 & 4 TP TG0 F97 & FAF FI7 & [o77 5 & TR &/

(iii) 7% FHH 5 F 20 dF F =il [Abeq &7 T3 &/

(iv) 597 FHIE &5 @ 97 HHIH 8 % FAF J97 & o 2 3& fwEiRa &1 vz
T 30 w15 &/

(v) H¥7 FHTF 9 @ 12 TF FAF F97 & [o7 3 3w [iRa & ass wfiar 75
I &/

(vi) F¥T FHIE 13 F 17 TF HAS F97 & o7 4 & [FERa &/ &g fiar 120
I &/

(vii) T FHHIE 18 & 20 TF HAF 597 @ [0 5 3 [FRa &1 wrss &hr 150
I &/

(viii) T FHE 19 1397 & ArfaT 1 g & qaeT &/

INSTRUCTIONS: -

[120]

(i)  All questions are compulsory.

(ii)  Questions No. 1 to 4 are objective type. Each question carries 5 marks.

(iii) Internal options are given in question No. 5 to question No. 20.

(iv) Question No. 5 to 8 are assigned 2 marks each and answer should be given in
30 words each.

(v) Question No. 9 to 12 carry 3 marks each and answer should be given in 75
words.

(vi) Question No. 13 to 17 carry 4 marks each and answer should be given in 120
words.

(vii) Question No. 18 to 20 carry 5 marks each and answer should be given in 150
words.

(viii) Question No. 19 is related to fill in the map of world.
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iv)  STOTHT 9Tl d<l

I AxT URags diF ¥

iv) STel gRdsd
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Choose the correct option —
(@) Industrial town is —

(i)  Bhilai

(i) Ujjain

(i)  Bhopal

(iv) Mahu

(b)  Who is called the father of Human Geography?
(i)  Blache
(i)  Dawis

(iii)  Retzel
(iv)  Huntington
(¢) Kumari E. C. Sampule is-
(i)  French Geographer
(i)  German Geographer
(iii)  American Geographer
(iv) Japanese Geographer
(d)  Which is the cheapest transport —
(i)  Air transport
(i)  Road transport
(i)  Rail transport
(iv)  Water transport

(e)  Which of the following is first communication satellite of India?

(i)  Cosmos
(i)  Arya Bhatta
(i) S.L.V-3
(iv)  Apple
g2 Rad = a1 gid s

@) FEAR DI TG AT B AT oo
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Fill in the Blanks:

(@) Manalito ....cooveiiiiiiii road is the highest road in the world.
(b) Indian forest research institute is situated in ... .

(€)  DINI IS ettt city of India.
o ) T I 1= T in diversity in India.
(B) e is the best soil for the Cotton agriculture.

@) T=R P9 YR & TR BT ITE 27

@) T A AR BT MR ST B RAFIART BT R BET 27
(@) g e Far 2?

(@) YRA & 4w I5g H STHET 99T HH 87

() SATTE! & I B A AT I 82

Answer in one sentence:

a) Indore is an example of which kind of city?
b) Migration of population towords rural area to urban areas is called?

(

(

() What is composite settlements?

(d) In which state of India density of population is low?
(

e)  Which soil is made from ash of volcano?

el eI I4T8:

(a1) @)
@) < @ YT () el B
@) PEA STS SMaATSS (i) IR
(9) ¥Nd BT HT=CN (iiy IR
@) 9w &1 HA By (iv) I 8 w9d
() dferTrg (v) OTEHEETS

Match the following:
(A) (B)

(@) Transmission of Communication (i)  Gandhi Farm

(b) Carbon — di — oxide (i)  Trade

() Manchester of India (i)  Communication

(d) Sale and Purchase of Goods (iv)  Green house effect
(e) Tamil Nadu (v) Ahmadabad
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AT Tl B Sugerd g forRag —

Define Human Geography
31erd1 / OR

AMG A & 31 BT FASEY —

Explain the Human Geography.

JrT & B <y T R |

Write two main important problems faced by the rural people.

3721dT / OR
SENfires AT UITAe TR BT ISTEXT Th] FHSIEY |

Explain industrial or administrative town with examples.

T I 1 aed 27

What do you mean by settlement?

31ed1 / OR
T IR @ ufaedl & M forRay |
Give various forms of Human settlement.
TITIROT GGHOT HT 31ef T 82 AHSSY |
What do you mean by environmental pollution? Explain
312791/ OR

IR YWl & &I S qargd?

Give two sources of Air pollution.

<P GBI b Bed 87 g9a! Big o9 fagwarg ferar?

What is Truck Farming? Write any three characteristics of it.
31791/ OR

ST GBI & fABrd & DI B A T BRD o7
Give the main three Features of Dairy Farming?

RA H AT B arell fbel 9 avgall & aw o ford |
Write the name of three items which imports India.
31ed1 / OR

U 3T dexITE BT o faeeany forfRae?

Describe any three characteristics of a good sea — port.
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AR Al BT Agd falay | I8 3 (3)
Write any three importance of modes of communication.
312141/ OR
ST BT AT AT 87
What is the importance of Internet?
R il AT 3?7 Y IR 3D Bls &l R fora? (3)
What is Green Revolution? Write its two impact on Agriculture.
31ed1 / OR
Jul STl A | 3MY FIT FASKT &2 quid BHIToTg |

What do you mean by rain water harvesting? Explain

ST gTcd Dl GHTAT B dTel 0 IR BRI aIRay | (4)
Write main four causes which affect the population density.

3ferdT / OR
T BRU & b ARSI R A &Fha § 2V2 YA g1 © oAfb SRl
3UETTH AT FHH B°

What is the reason that Australia has two and a half times more area than India but the
population is too less than India.

YRA H SET gfg @l A Y@ & S fafg | (4)
Write the measures to control population growth in India.

31edr / OR
IRA § 7T BT 7 =1 H SEET o9 S1fdd 27 Fil?
Why “mid valley of Ganga is densely populated in India.
qTSY ofTsd URds @ &I 0T 3R a1 qIY oIl | (4)
Write the two merits and two demerits of pipeline transportation.

312rd1 / OR

Y URTET BT Hecd qdgd |
Describe the importance of Air transportation.
IRA & T AR &1 7 forga? f5l wa a1 faewamt forReg | (4)
Name the main soils of India and write the characteristics of any one.
31ed1 / OR
TRT § a9t Ia1e+ & forg dimifere gemen &1 forRay |

Write the geographical conditions required for rice production in India.
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IRA ¥ g @Hol & 316 Ud fAaRor &7 9o Bk |
Describe the production and distribution of Iron — ore in India.

31erdT / OR

Foll P RANTTT Ud TIRARTTT AT hIF i F & |
Define Non — conventional and conventional sources of energy?
RIFTRI $Y a1 87 9D Big IR faemang fofkeay |

What is Shifting Agriculture? Write any four characteristics of it.

31erdT / OR

YRA IENT BT Bls U FIRIN fIRag?
Write any five problems of Indian industry.

o v ¥R & WHeR aEtE #§ e forlRad goiy —

(1) = ARARYT X AN
(2) H=S W o= S a1

B) ID T=[MME
(4) TSI QT
(5) Y HENNR

State the following in the out line map of world.
(1)  Trans Siberiyan Rail Route

(2)  Mumbai to London water Route

(3) Newyork Port

(4) Amazon River

(5) Atlantic Ocean.
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3feraT / OR
I v IR & IR g § e folRag a1 sy |

(1) DY PTG XeTHAN

(2) ied W AP STTANT
3) U WIRRDI TR

(@) TA™T TN

(5) 3Wd HEMNR
Show the following in outline map of world
1)  Cap — cairo Rail Route

(

(2) London to Now York water Route
(3) San Francisco city

(4) Panama Canal

(5) Arabian Sea.

U420 HSh URTET B I FARIN FT &7 A |

Explain the Main problems of road transportation.
31ed1 / OR

MR ISR UE RIS ISR 6l fadR 3 dHssy |

Describe the National highways and state highways.
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